=2 wa | k3| mR P b B | arem | B
1 | AR | 1801 | —RE |E{EIE=ER28555=182252 16 14,700 SHEcHE
2 | Al | 1B02 | —BE |FAEE=FR2855%=1851 16 14,700 [ i ]
3 | AR | 1B03 | —FER |HAIEIR=ER28535=12250 16 14,700 SHEcHE
4 | A | 1B04 | —EE |EEK=ER2855%=122749 16 14,700 [ i ]
5 | AR | 1B05 | —EE |FBIE=ER28555=18748 16 14,700 [y
6 | AR | 1B06 | —ER |FAIEIR=ER28535K=18247 16 14,700 [ i ]
7 | A | 1B07 | —ER |EAEE=ER285%=12246 16 14,700 [y
8 | AR | 1B08 | —EE |FRIEIE=FR2859%=12245 16 14,700 [ i ]
9 | AR | 1B09 | —REE! |REIR=FR2855%=12236 16 14,700 [y
10 | At® | 1B10 | —RBE |FEIK=ER28555=18235 16 14,700 2EcHE
11 | AR | 1B11 | —FE |FEER=ER2853%=18232 16 14,700 SHECHE
12 | AR | 1B12 | —REE |FREIE=FR28555 =130 16 14,700 [y i ]
13 | AR | 1B13 | —REE |R{EBIE=FR28555=1228 16 14,700 2EcHH
14 | Al | 1B14 | —BER |[FAEK=ER2855%=12226 16 14,700 SHEcHE
15 | A% | 1B15 | —EE |FEE=FR2855K=182223 16 14,700 SEoE
18 | Al | 1B18 | —FER |KEIK=FR2853F=12229 16 14,700 SEcHE
21 | A | 1B21 | —BE |FEIR=FR2855K=182222 16 14,700 SEoE
22 | AR | 2B01 | —RER |FR{EIR=FR28555=1E243 27 24,800 2fcHE
23 | AR | 2B02 | ZEE |RIBIR=FR28555=18242 27 24,800 SHEcHE
25 | AR | 2B04 | TEE |FEB=FR2855%=122240 27 24,800 S HEcHE
26 | AR | 2B05 | ZREE |REIE=FR28555=1839 27 24,800 SHEcHE
27 | AtE | 2B06 | ZREE |EAEKR=FR2855%=12238 27 24,800 [y i ]
29 | AR | 2B08 | “EE |EBIR=FR28555=1821 27 24,800 SHEcHE
30 | AR | 1B01 | —ER |EA{EIE=FR28535%MMIE 252 16 14,700 [y i ]
31 | AR | 1B02 | —RER |FEIE=ER2855kMiE 251 16 14,700 =HECHE
32 | Al | 1B03 | —ER |EAEIK=FR2859%M#E 250 16 14,700 [y i ]
33 | AR | 1B04 | —EE |FEIE=FR2855%M01E 249 16 14,700 SHEcHE
34 | AfE | 1B05 | —EE! |E{EIR=FR285%%MU1E 248 16 14,700 [y i ]
35 | AR | 1B06 | —EE! |EREBIE=FR28555IIE 247 16 14,700 SHEcHE
36 | Al | 1B07 | —ER |FAEIK=FR2853EMIE 246 16 14,700 [y i ]
37 | AB | 1B08 | —EE |A{EIR=FR2855%MU1E 245 16 14,700 2EcHE
38 | AR | 1B09 | —EE! |R{EIR=FR2855%MU1E 236 16 14,700 SHECHE
39 | A% | 1B10 | —EE |F{EIE=FR2855KMUIE 235 16 14,700 SEoE
40 | AR | 1B11 | —RE |EEIE=ER2855%MIE 232 16 14,700 SHECHE
41 | AR | 1B12 | —RER |FEBER=ER2853MIE 230 16 14,700 SEoE
42 | ABE | 1B13 | —EE |FEK=ER285550118 228 16 14,700 SHECHE
43 | AR | 1B14 | —RER |FEBIER=ER2853EMIE 226 16 14,700 SEoE
44 | AR | 1B15 | —RE |EEIE=ER2855%MIE 223 16 14,700 SHECHE
50 | AR | 1B21 | —EE |FA{EIE=FR2855%MNIE 222 16 14,700 2EcHE
54 | AR | 2B04 | ZREE |FEER=ER2855RUIE 240 27 24,800 SHEcHE
55 | Atk | 2B0S | TEE |FAEK=F2855%M1E 239 27 24,800 [y
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56 | AR | 2B06 | R |HEIR=ER2855KIUIE 238 27 24,800 SHEcHE
58 | At | 2B08 | “EE |FA{EIR=ER2855EMIE 21 27 24,800 =SEcFE
59 | At | 1801 | —FEE |EEIE=FR2855EAIEZ52 16 14,700 Ao
60 | AR | 1B02 | —EE |&EIR=FR2853%A1E 251 16 14,700 [ i ]
61 | AR | 1B03 | —FEE! |F{EIR=FR28555A1E 250 16 14,700 [y
62 | AR | 1B04 | —FEE |FHEBR=FR2855KAIE 249 16 14,700 2EcHE
63 | AtR | 1B05 | —ER |EAEIE=ER2855%FHIE 248 16 14,700 [y
64 | AR | 1B06 | —FEE |EK{EKR=ER285KAIE 247 16 14,700 [ i ]
65 | A% | 1B07 | —RER |EEK=FR2855KA1E 246 16 14,700 SEcH
66 | AtR | 1B08 | —EE |FA{EIR=ER2855%A1E 245 16 14,700 [y i ]
67 | AR | 1B09 | —EE! |R{BIR=FR28555 12236 16 14,700 [y
68 | At | 1B10 | —ER |HEK=FR2855KAIE 235 16 14,700 2EcHE
69 | A | 1B11 | —E® |FEIR=FR2855KAE 232 16 14,700 SEoE
70 | A% | 1B12 | —EE |R{EIR=FR28555A1E 230 16 14,700 SHEcHE
71 | A®R | 1B13 | —EE |E{EIR=FR28555 18228 16 14,700 SHEcHE
72 | A% | 1B14 | —EE |REIR=FR28555A1E 226 16 14,700 SEcHE
73 | At® | 1B15 | —RER |FER=ER2855KAIE 223 16 14,700 SEoE
76 | A% | 1B18 | —EE! |E{EIR=FR2855KAIE 229 16 14,700 SEcHE
78 | AR | 1B20 | —EE |FER=FR28555A1E 225 16 14,700 SHEcHE
79 | A | 1B21 | —EE |EER=FR28555AIE 222 16 14,700 S HEcHE
81 | AR | 2B02 | ZEE |&ER=FR28555AiEx42 27 24,800 SHEcHE
82 | A% | 2B03 | ZEE |EER=FR2855%AIE 241 27 24,800 [y i ]
83 | Atk | 2804 | ZEE |[FH{ER=FR2855EAIEZ40 27 24,800 SHEcHE
84 | At | 2B05 | “REE |EEE=F28558A1E 239 27 24,800 SicHE
85 | At | 2B06 | _REE |FAEIE=FR2855EAIE 38 27 24,800 SEcHE
87 | At | 2B08 | ZEE |E{ER=FR2855%AIE 221 27 24,800 [y i ]
88 | A | 1B03 | —EE |[FA{EIE=FR285%E/ 12250 16 14,700 SHEcHE
89 | A% | 1B04 | —EE! |H{EIE=FR2855K/\18 249 16 14,700 [y i ]
90 | At | 1BOS | —EE |[FH{EIR=FR2855K/N18 248 16 14,700 2EcHH
91 | A% | 1B06 | —EE! |H{EIR=FR2855K/\1E 247 16 14,700 [y i ]
92 | AR | 1B07 | —EE |E{EIER=ER2855%/\18 246 16 14,700 =HECHE
93 | AR | 1B08 | —FER |H{EIE=ER285%%/18245 16 14,700 =AcH
94 | AR | 1B09 | —EH |FHEIE=ER2855%/ 18236 16 14,700 SEoE
95 | AR | 1B10 | —EE |&EE=FR2855%/ 18235 16 14,700 SHECHE
96 | At® | 1B1l | —RE® |FHEIR=ER2855%/ 18232 16 14,700 SEoE
97 | AR | 1B12 | —EE |FEK=ER2855%/5182230 16 14,700 SHECHE
98 | A% | 1B13 | —EE |R{EIE=FR2855%/ 18228 16 14,700 SEoE
99 | Al | 1B14 | —EE |FER=ER28555/ 182226 16 14,700 SHECHE
100 | At | 1B15 | —EE |HEIE=ER2855%/ 18223 16 14,700 2EcHE
102 | A% | 1B17 | —RE |EEIE=ER28555/\18 231 16 14,700 SHEcHE
103 | A% | 1B18 | —EE |F{EIK=ER2855%/ 18229 16 14,700 [ i ]
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104 | A® | 1B19 | —EE |&EKR=ER28555 18227 16 14,700 SHEcHE
105 | A% | 1B20 | —EE |EAER=FR2855%/\18225 16 14,700 [y
106 | A% | 1B21 | —RE |EEIE=ER28555/\18 222 16 14,700 SHEcHE
108 | Atk | 2B02 | “EE |EEE=FR2855%/ 18242 27 24,800 ShcH
109 | AR | 2803 | ZEE |&EE=ER2855%/ 18241 27 24,800 [y
110 | AfR | 2B04 | “RE |FHEK=F2853%/\1E 240 27 24,800 ShcE
111 | A% | 2805 | B |&EK=ER2855%/182239 27 24,800 [y
112 | A#R | 2B06 | ZEE |HA{EKR=ER2855%/ 18238 27 24,800 [ i ]
113 | AR | 2807 | B |&EK=ER28555/ 182237 27 24,800 [y
114 | AfR | 2B08 | “RE |FHEK=F2853// 18221 27 24,800 =Hc e
115 | A% | 1B03 | —EE |&{EIK=ER28555 18250 16 14,700 [y
116 | At | 1B04 | —EE |EEE=FR2855% 18249 16 14,700 2EcHE
117 | AR | 1B05 | —FEE |FEIE=FR2859%t18 248 16 14,700 2EcHH
118 | At | 1B06 | —FEE! |HA{EKR=FR2855% 18247 16 14,700 SHEcHE
119 | AR | 1B07 | —EE |F{ER=FR28555 182246 16 14,700 SHEcHE
120 | At® | 1B08 | —EE! |E{EIR=FR2855% 18245 16 14,700 SEcHE
121 | AR | 1B09 | —EE |E{EIR=ER28555 18236 16 14,700 SHEcHE
122 | Af® | 1B10 | —RBE |FHEK=F2853% 18235 16 14,700 SBcHE
123 | AR | 1B11 | —EE |&EE=FR28555 18232 16 14,700 SHEcHE
124 | AfR | 1B12 | —RBE |[FHEK=F2853% 18230 16 14,700 SBcHE
125 | AR | 1B13 | —EE |F{EIR=ER28555 18228 16 14,700 SHEcHE
126 | At® | 1B14 | —FEE |HAEKR=FR2855% 18226 16 14,700 [y i ]
127 | AR | 1B15 | —ER |F{EIR=ER2855%+12223 16 14,700 2EcHH
128 | At | 1Bl6 | —EE! |EER=FR2855% 18233 16 14,700 [y i ]
129 | AR | 1B17 | —BR |FEB=ER2855%+1E231 16 14,700 2EcH
130 | At | 1B18 | —FEE! |HAEIR=FR2855%+18229 16 14,700 [y i ]
131 | AR | 1B19 | —EE |E{ER=ER28555 18227 16 14,700 SHEcHE
132 | AfR | 1B20 | —EE! |E{EIR=FR2855% 18225 16 14,700 [y i ]
133 | Atg | 1B21 | —RER |FEE=ER2855% 18222 16 14,700 =HECHE
135 | AfR | 2B02 | Z“RE |FHEKR=F285K 18242 27 24,800 =HcAE
136 | AR | 2803 | ZEE |&EE=ER2855%t18 241 27 24,800 [ it ]
137 | At | 2B04 | ZEE |EAEKR=ER2855% 18240 27 24,800 SHECHE
138 | AR | 2805 | R |EEIE=EFR285%% 1239 27 24,800 =HECHE
139 | A® | 2806 | ZEE |FEK=ER28555 18238 27 24,800 SHECHE
140 | A% | 2807 | B |&EK=ER28555 18237 27 24,800 [ it ]
141 | At | 2B08 | “EE |FE{EE=FR2855%t1E 221 27 24,800 =Hc
142 | AR | 1B05 | —FE |EEEE=EFR285%%/\18 248 16 14,700 =HECHE
143 | AR | 1BO6 | —FHE |E{EIE=ER285%%/\18 247 16 14,700 =AcH
144 | A% | 1B07 | —RE |REE=EFR2855%)\12246 16 14,700 2EcHE
145 | AR | 1B08 | —EE! |&{EIE=ER2855%/\18 245 16 14,700 SHEcHE
146 | AR | 1B09 | —FEE |&{EIE=ER2855%/\18236 16 14,700 [y
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147 | AR | 1B10 | —FEE |&EIR=ER2855%/\18235 16 14,700 SHEcHE
148 | Af® | 1B11 | —E® |HEE=ER285%3%/\12232 16 14,700 2EcHE
149 | Af | 1B12 | —REE |FA{EE=ER285%%/\182230 16 14,700 [eyiic!
150 | A® | 1B13 | —EE |FEIK=ER2855%)\18 228 16 14,700 [ i ]
151 | A% | 1B14 | —REE |HEER=EFR2855%/\12226 16 14,700 SHECHE
152 | AR | 1B15 | —E® |HEE=ER285%%/\12223 16 14,700 2EcHE
154 | A% | 1B17 | —RE |E{EFE=ER2855%/\18231 16 14,700 SHECHE
155 | At | 1B18 | —REE! |A{EIR=ER285%%/\18229 16 14,700 [ i ]
156 | AR | 1B19 | —EE |&{EIK=ER2855%/)\18227 16 14,700 [y
157 | At | 1B20 | —EH |EEIE=ER2855%/\18 225 16 14,700 2EcHE
158 | AR | 1B21 | —E& |F{EIE=ER2855%/\18 222 16 14,700 [eyiic!
159 | At | 2B01 | “E® |H{EE=ER285%%/\122243 27 24,800 2EcHE
160 | Atk | 2B02 | —EH |FEIR=ER2855%/\12242 27 24,800 SHEcHE
161 | AtR | 2B03 | —EE |EEE=FR2855%/\1 8241 27 24,800 SBcHE
162 | AtR | 2B04 | R |[FH{ER=FR285%%/\18240 27 24,800 SHEcHE
163 | AtR | 2B05 | —EE |EER=EZ2853%/\1 239 27 24,800 SBcHE
164 | AtR | 2B06 | —EH |[FH{EIR=FR2855%/\18 238 27 24,800 SHEcHE
165 | AtR | 2B07 | —EE |EEE=Ez2853%/\18 237 27 24,800 SBcHE
166 | Atk | 2B08 | —EH |FH{EIR=ER2855%/\18221 27 24,800 SHEcHE
167 | AfE | 1B05 | —RBE |FHEK=F2855% 18248 16 14,700 [y
168 | AR | 1B06 | —EE |E{EIR=ER28555 18247 16 14,700 SHEcHE
169 | AfR | 1B07 | —REE |HAEIR=ER2855% N2 246 16 14,700 [y
170 | AR | 1B08 | —EE |&{EIER=FR28555 /118245 16 14,700 SHEcHE
171 | AR | 1B09 | —RBE |FER=F2855% 18236 16 14,700 =HcAE
172 | AR | 1B10 | —E® |F{EIR=ER28555 12235 16 14,700 SEcHE
173 | A | 1B11 | —FB |F{EIR=ER28555 118232 16 14,700 2 HcH
174 | AR | 1B12 | — B |[FH{ER=FR2855E 118230 16 14,700 SHEcHE
175 | A | 1B13 | —EE |&EIR=ER2855E 118228 16 14,700 [y i ]
176 | AR | 1B14 | —EH |[FH{ER=FR2855E 118226 16 14,700 SHEcHE
177 | At | 1B15 | —RE |EEIR=ER28555 118223 16 14,700 SHECHE
178 | AR | 1B16 | —EE! |E{ER=ER2855% 12233 16 14,700 [ it ]
179 | At | 1B17 | —EE |E{EE=FR2855%N1EZ31 16 14,700 ShcH
180 | AR | 1B18 | —EE |&{EIR=ER2855% 118229 16 14,700 [ it ]
181 | AR | 1B19 | —RE |FEEBIR=ER2855RN1E 227 16 14,700 [ si=!
182 | AMR | 1B20 | —EE! |EIER=ER2855%NiE2225 16 14,700 [ it ]
183 | AR | 1B21 | —FEE |&ER=FR28555 18222 16 14,700 SHECHE
184 | AfE | 2B01 | R |E{EIE=ER2855% 18243 27 24,800 2EcHE
185 | A | 2B02 | ZEE |&EIR=FR285%E 18242 27 24,800 2fcHE
186 | AR | 2B03 | ZEE |&ER=EFR28555N1E241 27 24,800 SHEcHE
187 | At | 2B04 | “REE |HER=ER2855% 12240 27 24,800 SHEcHE
188 | AtR | 2B0S | “EE |FER=FR2855% 18239 27 24,800 [y
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189 | A | 2B06 | ZREE |&EK=ER28555 118238 27 24,800 SHEcHE
190 | At | 2B07 | ZEE |EER=FR2855%NIE 237 27 24,800 [y
191 | AR | 2B0S | ZEE |&EE=ER28555 N1 221 27 24,800 SHEcHE
192 | At | 1B07 | —RBE |FEKR=F2853%1T18 246 16 14,700 ShcH
193 | AfE | 1B08 | —ER |E{EIE=ER2855%+18245 16 14,700 SHECHE
194 | AR | 1B09 | —RBE |FHEK=F2853%1T1E 236 16 14,700 ShcE
195 | AR | 1B10 | —FEE |&EE=FR2855%+182235 16 14,700 [y
196 | AfE | 1B11 | —RBE |FHEK=F2855XT1E 232 16 14,700 ShcHE
197 | AR | 1B12 | —RE |&EK=ER2855%+182230 16 14,700 [y
198 | At | 1B13 | —RBE |FHEK=F2853%1T18 228 16 14,700 ShcHE
199 | AR | 1B14 | —EE |&EK=ER28555+182226 16 14,700 [y
200 | AR | 1B15 | —RBE |[FER=F2855%+1E 223 16 14,700 ShcE
201 | AR | 1B16 | —EHE |F{EIER=FR2855%+1E 233 16 14,700 SHEcHE
202 | A% | 1B17 | —RE |EEIE=ER2855% 18231 16 14,700 2fcHE
203 | AR | 1B18 | —E® |F{EIE=EFR285%%+18229 16 14,700 SHEcHE
204 | AfR | 1B19 | —ER |FRIEFE=ER2855E 12227 16 14,700 2 HcH
205 | AR | 1B20 | —E® |F{EIER=FR2855%+1E 225 16 14,700 SHEcHE
206 | AtR | 1B21 | —BE |FER=EFER2853%+18222 16 14,700 [ [ei=|
208 | AfR | 2B02 | —RER |F{EBIR=ER2855% 112242 27 24,800 SHEcHE
209 | AtR | 2B03 | ZEE |HER=EFER2853%T+1E 241 27 24,800 [ [eis|
210 | AfR | 2B04 | —RER |FR{BIR=ER2853% 12240 27 24,800 SHEcHE
211 | AR | 2B05 | “RE [FER=F2855%+1E 239 27 24,800 =HcAE
212 | Af® | 2B06 | —ER |H{BIR=FR2853% 12238 27 24,800 SHEcHE
213 | AR | 2B07 | “RE |[FHER=F2855%T1E 237 27 24,800 =HcAE
214 | AfR | 2B08 | —RER |F{EBIR=ER2853% 12221 27 24,800 SEcHE
215 | Al | 1B07 | —BE |FEIR=ER285%%+—182246 | 16 14,700 2EcHE
216 | At® | 1B08 | —RR |FBIE=ER2853F+—18245 | 16 14,700 SHEcHE
217 | AR | 1B09 | —EE [HEAEE=F2853+—18236 | 16 14,700 SicHE
218 | At | 1B10 | —F® |E{BIE=ER285%+—1€235 | 16 14,700 SHEcHE
219 | A% | 1B11 | —BE |FH{ER=FR2853K+—1#8232 | 16 14,700 =HcAE
220 | Af® | 1B12 | —EE |E{EIR=FR2855%+—182230 | 16 14,700 [ it ]
221 | AfR | 1Bl6 | —EE |FEIE=ER2855%+—18233 | 16 14,700 2fcHE
222 | AfE | 1B17 | —EE |F{EE=FR2855%+—18231 | 16 14,700 [ it ]
224 | AR | 2B02 | ZEE |FE{EIE=FR285ikT+—18242 | 27 24,800 ShcH
225 | AtE | 2B03 | R |HKEIR=FR2853+—18 241 | 27 24,800 2fcHE
226 | AR | 2B04 | “EE |E{EIE=FR285ik+—18240 | 27 24,800 ShcH
227 | A% | 2BO5 | “RE |EEIE=ER28555+—182239 | 27 24,800 2EcHE
228 | AR | 2B06 | “EE |H{EIE—FR285ik+—18238 | 27 24,800 ShcH
229 | A | 2B07 | ZREE |FEIR=ER2855%+—18237 | 27 24,800 2EcHE
232 | B# | 1B24 | —E® |&{EIR=ER2855E=182217 16 14,700 SHEcHE
233 | B | 1B25 | —BE |FA{ER=FR28558=182215 14 12,900 =SEcFE
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234 | Bf#® | 1B26 | —RBE |HE{EE=F28555=1213 16 14,700 SicHE
235 | BH# | 1B27 | —RE [FHER=FR2855=18212 16 14,700 =SEcFE
236 | B | 1B28 | —EE |H{ER=FR2855/K=1E 711 16 14,700 [y
237 | B | 1B29 | —REE |[FHER=F28555=1E 2210 20 18,400 ShcH
238 | BfE | 1B30 | —EE |H{EIE=ER28555=18218 14 12,900 SHECHE
239 | B# | 1B31 | —FR |R{BIE=FR2853%E=12216 14 12,900 2EcHE
240 | Bf#E | 1B32 | —EH |FAEK=FER28555=1829 16 14,700 [y
241 | B# | 1B33 | —EH |EEIE=ER28555=1828 16 14,700 2EcHE
243 | B#® | 1B35 | —EE |F{EIE=ER28555=123 20 18,400 [y
245 | B | 3B02 | =EE |HER=ER285/K=1827 44 36,900 ShcHE
248 | B# | 3B05 | =REE |[FHER=F28555=1825 44 36,900 [y
249 | B#® | 1B22 | —E® |&EIE=ER28535%MU1E 220 14 12,900 2EcHE
251 | B#R | 1B24 | —E® |F{EK=FR2855%MN1E 217 16 14,700 SHEcHE
252 | B | 1B25 | —REE |[FAER=F2855%ME 215 14 12,900 SBcHE
253 | B#® | 1B26 | —FE® |F{EBIR=ER2855%MiE 13 16 14,700 SHEcHE
254 | BiF | 1B27 | —RE |FK{EE=ER2853RMMiE 212 16 14,700 2 HcH
255 | B#® | 1B28 | —FER |F{BIR=ER2855KMiE 11 16 14,700 SHEcHE
256 | BfF | 1B29 | —FER |H{EFE=ER2855KMWIE 210 20 18,400 2 HcH
258 | B#® | 1B31 | —FE® |F{BIE=FR2853%KMIE16 14 12,900 2fcHE
259 | B#E | 1B32 | —FEE |FH{EFE=ER2855KMWIE29 16 14,700 2 HcHE
260 | B#® | 1B33 | —FER |F{BIR=FR2853KMIE 8 16 14,700 SHEcHE
261 | B#® | 1B34 | —EE |&{EIR=FR2855KMIE 22 14 12,900 [y i ]
262 | B#® | 1B35 | —FER |F{BIR=ER2853KMIE 3 20 18,400 2EcHH
264 | B#® | 3B02 | ZEE |E{EIR=FR28555MIE 27 44 36,900 [y
266 | BH#f | 3B04 | =RER [FHER=FR2855%MIE 26 44 36,900 [y
268 | B | 1B22 | —EE |F{ER=EZ28558A1E 220 14 12,900 SicH
269 | B#® | 1B23 | —FER |F{BIE=FR2853%KAIE 219 14 12,900 SHEcHE
270 | B | 1B24 | —REE |[FHER=F2855AE 217 16 14,700 =HcAE
271 | B | 1B25 | —FE® |F{EBIR=ER2855HIE 215 14 12,900 SHEcHE
272 | B | 1B26 | —EE |[FHER=F28555A1E 213 16 14,700 =HcAE
273 | B#& | 1B27 | —RE |F{EIE=ER28555A1E 212 16 14,700 2EcHE
274 | B | 1B28 | —EE |H{ER=FR285XAE 711 16 14,700 ShcH
275 | B#& | 1B29 | —F® |R{EIE=EFR285%AIEZ10 20 18,400 =HECHE
276 | Bf#& | 1B30 | —RE |FE{EK=F2855xA1E218 14 12,900 ShcH
277 | Bf#E | 1B31 | —EH |FEK=FR28555 A€ 216 14 12,900 [ it ]
278 | BfE | 1B32 | —EH |FER=FR2855%EAE 9 16 14,700 2fcHE
279 | B#E | 1B33 | —EH |HKEKR=FR2855KAE 28 16 14,700 [ it ]
280 | BfE | 1B34 | —EH |FEIR=FR2855%AE 22 14 12,900 2fcHE
281 | B# | 1B35 | —RE |F{EIE=ER28555A1EZ3 20 18,400 2EcHE
282 | B#® | 3B01 | =REE! |&{EIR=FR2855%T1E 44 36,900 SHEcHE
283 | B#R | 3B02 | =EE |FER=FR2855Q1E 27 44 36,900 [y
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285 | B | 3B04 | =REE |[FHER=F2855 1€ 26 44 36,900 ShcH
286 | B#f | 3B05 | =RER |[FHER=FR2855A1E 25 44 36,900 =SEcFE
287 | B# | 1B24 | —E® |E{EIE=ER2855%/\18 217 16 14,700 SHEcHE
288 | B | 1B25 | —RER [FHER=FR2855%/\18 215 14 12,900 =SEcFA
289 | B#E | 1B26 | —EHE |HEK=FR2853K 18213 16 14,700 [y
290 | B | 1B27 | —RBE |[FER=F2855%/\1E 212 16 14,700 ShcE
291 | B#E | 1B28 | —EHE |HKEIK=FR2853K 18211 16 14,700 [y
292 | B#® | 1B29 | —E® |&EIE=ER2853%/ 18210 20 18,400 2EcHE
293 | B#® | 1B30 | —EE |&{EIE=FR2855%/\12 218 14 12,900 [y
294 | BfE | 1B31 | —F& |H{EFE=ER2855K/N1E2216 14 12,900 2 EcHE
295 | Bf#E | 1B32 | —EH |HAEK=FER2855%/ 1829 16 14,700 [y
296 | B#® | 1B33 | —EE |E{EIE=ER2855%/\1E28 16 14,700 2EcHE
297 | B | 1B34 | —FE® |F{BIR=ER2855E 1822 14 12,900 2fcHE
298 | B#® | 1B35 | —EE |EEIE=ER2855R/ 18223 20 18,400 2fcHE
300 | B#¥ | 3B02 | =RE |FEK=FR2853K/ 1827 44 36,900 =SEcFE
301 | B#& | 3B03 | =EE |EER=FR2855%/ 121 44 36,900 [ [ei=|
302 | B# | 3B04 | =R |FHEKR=FR2855%/ 1826 44 36,900 =SEcFE
303 | B# | 3B05 | =RE |FHEK=FR2853R/\1EZ5 44 36,900 SBcHE
304 | B#® | 1B24 | —EH® |[FH{EKR=FR2855E 18217 16 14,700 SHEcHE
305 | B# | 1B25 | —RBE |FHEK=F2855% 1215 14 12,900 SBcHE
306 | B#& | 1B26 | —E® |F{ER=ER2855%+12213 16 14,700 SHEcHE
307 | Bi& | 1B27 | —EE |&EIE=FR285%k 18212 16 14,700 2
308 | Bi® | 1B28 | —EE |&EIE=FR2855% 12211 16 14,700 SHEcHE
309 | B# | 1B29 | —E® |[FA{EIE=FR2855Et12210 20 18,400 2fcHE
310 | B#& | 1B30 | —E® |[FA{ER=FR2855%+18 218 14 12,900 SEcHE
311 | B# | 1B31 | —RBE |FHEKR=F285K 1216 14 12,900 =HcAE
312 | B#& | 1B32 | —E® |FH{ER=ER2855K+1E229 16 14,700 SHEcHE
313 | B#% | 1B33 | —EE |AEKR=FR2855% 1228 16 14,700 [y
314 | B#& | 1B34 | —E® |FK{ER=ER2855KH1E 22 14 12,900 SHEcHE
315 | B# | 1B35 | —EE |HAEKR=FR2855% 1823 20 18,400 [y i ]
316 | B#® | 3B01 | =B |RIER=EFR2855% 12 44 36,900 2EcHE
317 | B#& | 3B02 | =E® |EER=FR2855% 1827 44 36,900 ShcH
318 | B#¥ | 3B03 | =R |FER=FR28557/K €1 44 36,900 =SEcFA
319 | B# | 3B04 | =EE |EER=FR2855% 186 44 36,900 ShcH
320 | B | 3B05 | =R |FEKR=ER2855K 1825 44 36,900 =SEcFA
321 | B#f | 1B24 | —RE |FEEIR=EF2855%/\18217 16 14,700 ShcH
322 | B#& | 1B25 | —EE |E{ER=ER2855%/\18215 14 12,900 [ it ]
323 | B## | 1B26 | —RBE |FER=EF2855%/)\1 8213 16 14,700 [ si=!
324 | B#E | 1B27 | —REE |E{EIE=ER285%5%/\18212 16 14,700 2EcHE
325 | B#& | 1B28 | —RE |E{EFE=ER2855%/\1E211 16 14,700 SHEcHE
326 | B# | 1B29 | —E® |[FA{EIE=FR285%%/\12210 20 18,400 2EcHE
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327 | B# | 1B30 | —RBE |FEEIR=EFE2855%/\18 218 14 12,900 [ si=
328 | B# | 1B31 | —EE |FEHR=FR2855%/\18216 14 12,900 [y
329 | Bi® | 1B32 | —EE |FEK=ER2855%/\18229 16 14,700 SHEcHE
330 | B#& | 1B33 | —EE |HEEK=FR2855%/\188 16 14,700 ShcH
331 | Bi® | 1B34 | —EE |FEK=ER2855%/\1822 14 12,900 [y
332 | B | 1B35 | —EE |HEIR=ER2855%/\1823 20 18,400 2EcHE
334 | Bi® | 3B02 | =B |&IEIR=ER2855%/\1827 44 36,900 [y
335 | B#& | 3B03 | =EE |EEE=F2855%/\121 44 36,900 [ [ei=|
336 | Bi#¥ | 3B04 | =R |FHEKR=F2853%/\1826 44 36,900 =S
337 | Bt | 3B05 | =RE |FHEK=F2853%/\1E25 44 36,900 ShcHE
338 | Bi® | 1B24 | —RE |&EK=ER28555N1B217 16 14,700 [y
339 | Bi#& | 1B25 | —EE |EEIE=ER2855%L1E 215 14 12,900 2EcHE
340 | Bi® | 1B26 | —EE |&EE=FR28555118213 16 14,700 SHEcHE
341 | B | 1B27 | —RE |EEIE=ER2855EN1E212 16 14,700 2fcHE
342 | Bi® | 1B28 | —EE |&EE=FR28555N1E211 16 14,700 SHEcHE
343 | B#% | 1B29 | —E® |FHEE=ER2855NIEZ10 20 18,400 2 HcH
344 | Bi® | 1B30 | —EE |FEER=ER28555 118218 14 12,900 SHEcHE
345 | B#& | 1B31 | —EE |EEIR=EZ28558 18216 14 12,900 [ [ei=|
346 | Bi® | 1B32 | —EE |H{EER=FR2855ENI1E9 16 14,700 SHEcHE
347 | B#% | 1B33 | —E® |HK{EE=ER2853FNiEZ8 16 14,700 2 HcHE
348 | B# | 1B34 | —EH |FK{EIE=ER2855ENIE22 14 12,900 SHEcHE
349 | B# | 1B35 | —EE |HAEKR=FR2855%NiE 23 20 18,400 [y
350 | B#% | 3B01 | =E® |EEIR=ER2855EN1E 44 36,900 SHEcHE
351 | B# | 3B02 | =EE |EER=FR2855kNIEZ7 44 36,900 SicHE
352 | B#¥ | 3B03 | =R |FER=ER285/NIE1 44 36,900 [y
353 | B# | 3B04 | =EE |EER=FR2855FNI1E6 44 36,900 SicH
354 | B# | 3B05 | =R |FA{EIR=FR2855E 11825 44 36,900 SHEcHE
355 | Bi& | 1B24 | —EE |FEIR=ER285%5E+18 217 16 14,700 2
356 | B#& | 1B25 | —E® |FK{EIR=ER2855% 112215 14 12,900 SHEcHE
357 | B#& | 1B26 | —EE |EER=FR2855%1T1€ 213 16 14,700 SicH
358 | B#& | 1B27 | —EE |EA{ER=ER2855% 182212 16 14,700 [ it ]
359 | B## | 1B28 | —RBE |FER=EFR2855F1T1E 211 16 14,700 ShcH
360 | Bi® | 1B29 | —EE |&{EIE=ER2855%+182210 20 18,400 =HECHE
361 | B## | 1B30 | —RE |FEEBIR=EFE2855%1T1E€218 14 12,900 [ si=!
362 | Bi& | 1B31 | —EE |&EK=ER28555+18 216 14 12,900 [ it ]
363 | Bt | 1B32 | —EE! |E{EIKR=FR2855%+1E 29 16 14,700 SHECHE
364 | B#f | 1B33 | —RE |H{EIE=ER28555 12228 16 14,700 2EcHE
365 | Bi& | 1B34 | —EE |FER=FR285%5E+18 22 14 12,900 2fcHE
366 | B#® | 1B35 | —E® |[FA{EIR=FR2855% 1823 20 18,400 =HECHE
368 | B#& | 3B02 | =EE |FE{EK=FR2855kT1E 27 44 36,900 ShcH
369 | B# | 3B03 | =E® |FHEIR=FER2855% 1€ 21 44 36,900 [y
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370 | B#¥ | 3B04 | =R |FEKR=FR2855%T1826 44 36,900 ShcH
371 | B# | 3B05 | =R |FEEKR=FR2855% 1825 44 36,900 [y
372 | B | 1B32 | —REE |HER=FR2855+—18229 16 14,700 SHEcHE
373 | B#& | 1B33 | —E® |HEE=FR285%+—1228 16 14,700 2EcHE
374 | B#& | 1B34 | —RE |EEE=ER2855E+—1822 14 12,900 2fcHE
375 | Bi#& | 1B35 | —FEE |HEHK=FR2855%F+—1823 20 18,400 2 EcHE
377 | B | 3B02 | =RE |FER=FR285/K+—1827 44 36,900 =S
378 | B | 3B03 | =RBE |FEBIR=FR2855kt+—12221 44 36,900 ShcHE
379 | BiE | 3B04 | =REE |&EK=ER28555+—1226 44 36,900 [y
380 | B#® | 3B05 | =R |HEIE=FR285%+—18225 44 36,900 2EcHE
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